
#Discussion :

Wanted to clarify bounds rn prramaturizations ·

We should always think about pararctorizations w(t) as
having Ards on to i . e . a + 2b (whan era

of these bounds could be - cor -)

When raparameterizing of a new varable s
,
wood

to find new bounds
.

In the case of arc length paracterization ,

wo arc

given r(t) for adtab
,

then :

s = g(t) = 1 Insull de
and we find gri(s) / bouds g(a) = s =g(b)
#discussion : r(t) = (3 + + 1 , 4t

- 5
, 27)

Assume 01725
.
Thin since s=gCH) : Fat

our bords in sarc g(0) = 0 & g(S) = 5. S .

So
,
our new parameterization is :

r(g(s) = <E-s, )


